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Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
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Mental Ability 1
Section Id : 545027461
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927553
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459279293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the given words in the sequence in which they oocur in the English dictionary.

1. Wordsmuth
2. Workaholic
2. Worthwhile
4. ‘Worshipful
& Worklessly

Options:

1. % 12453
2 ¥ 12543
3. % Z1245

4 % 31254

Question Number : 1 Question Id : 5459279293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TRTeTET aeal @1 SIS dege i § & o %W % argar o

1. Wordsmith
2. Workaholic
= Worthwhile
4. Worshipful
E. Worklessly

Options:

1. % 12453
2 ¥ 12543
3. % Z1245

4 % 31254

Question Number : 2 Question Id : 5459279294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& series is given with one term wrong. Select that wrong term from the given alternatives.

FJ1o0, CF1e0, ZBE234, Widds, TTe4s
Options:

1. % FJ100

2. ¥ CF1E0

2 % TTE4E

4. % w443



Question Number : 2 Question Id : 5459279294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T S e T g, e & U ug e 31 Tew my fdwedt § & 39 e ug @ g

FJ100, CF1e0, ZB294, Widds, TTe4E
Options:

1. % FJ100

2. ¥ CF160

2 % TTE4E

4. % w443

Question Number : 3 Question Id : 5459279295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& series 15 given with ore terml missing. select the correct alternative from the given ones that will complete the

Series.

MO, JL, I, DF, 7
Options:

1. % ED

2. % AD

39 AC

4 % AR

Question Number : 3 Question Id : 5459279295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U 1w T T &, T & e 0E g & Tay Ty et # § g 9 e g, S arges B @ @
MO, JL, GI, DF, 7

Options:

1. % ED

2. % AD

3. ¥ AC

4 % AR

Question Number : 4 Question Id : 5459279296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:

1. % KLM
2. % POQR
3 ¥ TUW
4. % YTA

Question Number : 4 Question Id : 5459279296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e we § o Ty et # & Euw ara) st @t g
Options:

1. % KLM

2. % POR

3. ¥ TUW

4 % yza

Question Number : 5 Question Id : 5459279297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four letter pairs are given. The letters on left side of (-) are related to the letters on
the right side of () with some Logic/RulejREelation. Three options are sirmilar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives options.

Options:

1. % MANT : NTMA
2. % WANL : NIVA
3. ¥ ROUY : XUCE
4 % OZFM  FMOZ

Question Number : 5 Question Id : 5459279297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % MANT : NTMA
2. % WANL: NIVA
3. ¥ ROUX : XUOR
4 % OZFM  FMOZ

Question Number : 6 Question Id : 5459279298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. * Fhysics
2. ¥ Subject

2. % Chemistry
4. % Hindi

Question Number : 6 Question Id : 5459279298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FraimiET wa # o my Ewedt o & o aeg w1 giam

Options:

1. % offedt

2 o e

3. % T g

4, ® T



Question Number : 7 Question Id : 5459279299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, Select the word-number pair that shares the same relationship as shared between
the word-nurmnber pair belcm.

Liorn - 47

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Hen: 2

2 Dog: 3

3 Cat: 4

4 Eagle : 4

Question Number : 7 Question Id : 5459279299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torgfetta e # i Ty Fwent # @ I9 g - o g T g S gt weter T & A da R R gr e - A g e

W47

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.9t 2

2 Fr: 2

3. fawelt: 4

4 e 4

Question Number : 8 Question Id : 5459279300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 related to the third word in the same way as the second word 15 related to the first woord.

Happy : 5ad : Young @ ¢
Options:

1. % Cld

2. % Aga

3. % Time

4 % Man

Question Number : 8 Question Id : 5459279300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETATET W H I Seg B = A1 S eg F FH! TR el TGAT 5 AT el A Aeq U5el Jeg & TGaT gl

REEUE AL N ]
Options:

1. v 9g

2. % 3y

2% gng



4. % mey

Question Number : 9 Question Id : 5459279301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as second term is related to the first term.
ABCD : FGHI - PORS @ 7

Options:

1. ¥ UVWH
2. % WVWHY
3% WEYZ
4 % YWYZ

Question Number : 9 Question Id : 5459279301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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ABCD : FGHI - PQRS @ 7
Options:

1.9 UVWH

2. % VWEY

2% WHEYZ

4. % YVWYZ

Question Number : 10 Question Id : 5459279302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inn a certain code language, ‘BIRD 15 called a5 "CAT', "CAT' 15 called as 'RAT’, 'RAT' 15 called a5 'BELUE', 'ELUE' 15
called as ‘COLOUR!, "COLOUR’ is called as "'SOFT’. Which could be the color of RAT?

Options:

1. * ELUE

= ¥ COLOUR
3. % SOFT

4 % EIRD

Question Number : 10 Question Id : 5459279302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % d@r

2 ¥

3 % gamm
4. % T

Question Number : 11 Question Id : 5459279303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, FRIZ' is written as ‘56, "GAME' is written as '23’. What is the code for ‘GING' in
that code language?

Options:
1. % 323
2. % 35
2. ¥ 34
4 % 36

Question Number : 11 Question Id : 5459279303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AE W v H FRIZ &1 56 TEraET s, (GAME W23 BErAET 8 s e AT H 'GING W HIE T 87
Options:

1. % 33

o ® 35

3. ¥ 34

4. % 35

Question Number : 12 Question Id : 5459279304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code language, 'BETTED” is written as "GZYO]Y’ . What is the code for "SEEW in that code language?

Options:

1. % HGJR
2. % ¥FRK
=¥ HFIR
4 % ¥SJF

Question Number : 12 Question Id : 5459279304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TAtdE Wi ¥ # BETTED @1 'GZVO]Y ol JET 81 T FIg AT § SKEW & IS F47 57
Options:

1. ¥ HGJR

2. % HFRK
2. ¥ HFIR
4 ® HSJF

Question Number : 13 Question Id : 5459279305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sixevents P, O, R, 5, T and U are to be organized in a span of seven days from Sunday to Saturday. Cnly one
event is organised in a day. P should be immediately followed by 5. U should not be organized on Thursday.
There should be a gap of two days between O and B One day there will be rio event (Friday is not that day),
just before that day R will be organised. T should be organised on Tuesday and should not be followed by R
Wwhich event will be organized on Wednesday?

Options:
1. %1
2. %R



3.V Q0

4 % INo event will be organised

Question Number : 13 Question Id : 5459279305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. %1
2. %R
3.9 0
4 % Eriwn s g R s

Question Number : 14 Question Id : 5459279306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& is daughter of B. E and  are brothers. D is the father of C. E is the daughter of D. Which of the following
StAternents is correct?

Options:

1. ¥ Eis the paternal aunt of 4
2. % Eisthe mother of &

2. % CandE are sisters

4. % Eand A are brothers

Question Number : 14 Question Id : 5459279306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ABFTRAEIRCHER D, C T UGT R E, D &1 g3t 81 FafeiRed § & %19 a7 o= 987 27
Options:

1. ¥ E, A I Ja7/==1 8

2 ® B AWTAETE

T % CHNETEHE

4 ¥ EawawEd

Question Number : 15 Question Id : 5459279307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& and E are children of C but E is not the daughter of C. How is B related to C?

Options:

1. % Sister

2. % Erother
2. ¥ Som

4. % Daughter

Question Number : 15 Question Id : 5459279307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % a5

o % e

3V

4 % T

Question Number : 16 Question Id : 5459279308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eight students &, E, C, [, E, F, G and H are sitting around a circular table facing towards the centre. & and F
are sitting together. COnly B is sitting between G and D. G is sitting opposite to F. E is sitting to the immediate
right of 4 is third to the left of D Which of the following statement(s) isjare correct?

[ Cis sitting to the inumediate right of G.
II. & 15 sitting opposite o B

III. F is second to the left of E.

[V, G is sitting to the immediate right of E.

Options:

1. % Only 11
2. % [land IV
3 % land IV
4. % [l and III

Question Number : 16 Question Id : 5459279308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Faall
2 %I ARV
3 %AWy
4, V11 & 111

Question Number : 17 Question Id : 5459279309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Raja, Ram, Mohan, Ravi and Raghav are five brothers. Raja is € years older than Fam and Raghav is 5 yvears
older than Ram. Raja is 9 years younger than Mohan and 4 years older to Ravi. If the age of Ravi is 10 years,
then what is the sum of the ages of all five brothers?

Options:

1. * 64 vears
2. % BB vears
3% V2 vyears



4. % ZE vears

Question Number : 17 Question Id : 5459279309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % g4 a9
2 ¥ ggan
3 % 7oy
4 % g6 o

Question Number : 18 Question Id : 5459279310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eelow are given some staternents followed by some conclusions based on those staternents. Take the given
staternents to be true even if they seem to be at variance from commoenly known facts. Read all the conclusions
and then decide which of the given conclusion logically followi(s) the given staternents.

Staternents:
I. &1 pens are chairs.
II. Some chairs are pencils.

Conclusions:
[. Some pendcils are pens.
II. Some pencils are chairs.

Options:

1. # Only conclusion I follows

= % Cnly conclusion 1T follows

2. % EBoth conclusion I and I follow

4. % Meither conclusion follows

Question Number : 18 Question Id : 5459279310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 5459279311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eelow are given some statermnents followed by some conclusions based on those statermnents. Taking the given
staternents to be true even if they seem to be at variance from commoenly known facts. Read all the conclusions
and then decide which of the given conclusion logically follows the given staterments.

Staternents:

[. Some red are vellow,
II. Mo wellow 15 Car.

[II. Sormne car are white.

CONClusIonSs:

[. Some white are yellcm.
IT. Mo car is wellow.

III. Scrne wellowr are red.

Options:

1. % Only conclusion 1T follows

2. ¥ Both conclusion [T and 111 follow
2. % Both conclusion I and I follow

4. % Only conclusion I follows

Question Number : 19 Question Id : 5459279311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 20 Question Id : 5459279312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

4, 16, 112, 445, 7168, ¢
Options:
1. % 182762

2. % 7B9712
3. ¥ 1576896
4. ® 26628



Question Number : 20 Question Id : 5459279312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Temfaad wa 7 S1 1 afeen 7§ i T Fi

4, 16, 112, 448, 71658, 7

Options:
1. % 182762
2. % FBav1z
3. 9 157696
4. % ZEGEZE
Merital Ability 2
Group Number : 2
Group Id: 545927462
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
hental Ability 2
Section Id : 545027462
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927554
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5459279313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the givern series.

2,10, 30, 68, 120,7
Options:



1. % 192
2. 222
3% 248
4 % 208

Question Number : 21 Question Id : 5459279313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl v o S e sigar § & 7 aiw 7 Fem

2, 10, 20, 68, 120, 7
Options:

1. % 192

R

3. % 248

4 % 3208

Question Number : 22 Question Id : 5459279314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four nurmber pairs are given. The number on left side of (- 15 related to the number
of the right side of {-) with some Logic (Rule [Relation. Three options are similar on basis of same
Logic [Rule/Relation. Select the odd one out from the given alternatives.

Options:

1. % 27 -736
2. % 36-1302
3% 43 - 1849
4 % 52 - 2706

Question Number : 22 Question Id : 5459279314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

tel Teg Ty wer |, I weEy g Ry My ) (<) o St o S e HET (<) 3 g e of T8 e | et o e werer & dete
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Options:

1. % 27 -736

2. % 36-1302
39 43 - 1849
4 % 52 - 2706

Question Number : 23 Question Id : 5459279315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, four number pairs are given. The number on left side of (-) is related to the number

of the right side of {-) with some Logic/Rule/Relation. Three options are similar on basis of same
Logic/Rule/Relation. Select the odd orie out from the given alternatives.

Options:
1. % g8 - 100
2. % 94 - 97

2% 73 -GE



4 ¥ 57 - 70

Question Number : 23 Question Id : 5459279315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 8- 100

2. % 94 -97
2% 73 -GE
4 % 57 -70

Question Number : 24 Question Id : 5459279316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (=) is related to the number
of the right side of (-) with some Logic/Rule/Relation. Three options are sirmilar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options:

1. % 14-210
2. % 17 -306
3% 26-702
4 ¥ 23-529

Question Number : 24 Question Id : 5459279316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 14 -210

2. % 17 - 306
3% 26 -702
4 & 23 -529

Question Number : 25 Question Id : 5459279317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the nurmber which can be placed at the sign of question mark (7 from the
given alternatives.

28 | 36 27| 46 37 |24
32 | 40 33 | 52 58 | ?
Options:
1. % 28
2. % 47
3. % 54

4. v 45



Question Number : 25 Question Id : 5459279317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT ma f for my et # & we v (7) 3F 99 U ST e ST w g

28 | 36
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37 | 24
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Options:
1. % 28
2. % 47
2. % 54
4. ¥ 45

Question Number : 26 Question Id : 5459279318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the nurmber which can be placed at the sign of question mark (7 from the
given alternatives.

4 7 9 10
6 8 | 12
12: | 1 16 | 20
196 7(401| ?
Options:

1. % 458

2. % 592

2. ¥ 544

4 % LCGE

[#5]

Lad

I

[ o

Question Number : 26 Question Id : 5459279318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e meg # T i feent ® & way g (7) o ST 0T ST STet T @ e

4 7 9 10
6 8 12
12 1 1 16 | 20
196 71401 ?
Options:

1. % 458

2. % 392

3. ¥ B44

4 % LCEE

[ F5]

L]

| ]
bJ

Question Number : 27 Question Id : 5459279319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

If ‘P means "=, "¢ means "x’, ‘B’ means '+ and ‘5 means -, then 2R 12P 120 168F 21 Q3R E520=7
Options:

1. % 28

2. % 16

3% 20

4 9 12

Question Number : 27 Question Id : 5459279319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A P owT el <, O wmr el e, RomTerl ey weE - LT3R 12P 12 G 168FP 21 Q3R E5520=7
Options:

1. % 25

2 %15

3 % 20

4 ¥ 12

Question Number : 28 Question Id : 5459279320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If "4 means ‘=, 'B' means "x', 'C' means '+ and ‘D means -, then 45 A 15 C 448 A 2EEZD 20210 =7

Options:
1. % 40
2. % 35
3. ¥ 25
4 % 15

Question Number : 28 Question Id : 5459279320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Al A wTarf =, B owmr e ', O wmT el e D e - B dT45 A 15 C 445 A 2EE 2D 20C 10 =7
Options:

1. % 40

2 % 35

3. ¥ 25

4 % 15

Question Number : 29 Question Id : 5459279321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the nurnber that 15 related to the third number in the same way a5 second number 15 related to the first.

B3 17 o Bars
Options:
1. % 4%

2. ¥ 24
3. % 36
4 % 16



Question Number : 29 Question Id : 5459279321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT T W # 3 e o o S S W | FE! T S g e W g S g | ST § et Bl
632 17V o 8977

Options:

1. % 42

2. ¥ 24

3. % 38

4 % 18

Question Number : 30 Question Id : 5459279322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Eed, Yellow, Colour
Options:

(@D

QL

@O

9

Question Number : 30 Question Id : 5459279322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T W T AT At T T A @ S @ Herel o R e AT g

A, WA, T
Options:

(GD
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Question Number : 31 Question Id : 5459279323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given figure, how many short boys are cricketers but not tennis players?

Short

Tennis players
Options:
1. % 11
2. ¥ 5
3 % 15
4 % 18

Question Number : 31 Question Id : 5459279323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TS ST | Topa ¢ A dr Tohahed &, ol ¢ -1 & [EeTaT 5 57

4 ¥/<
/
e e

Options:

1. % 11
o W3

NI Y
e



3. % 15
4 % 13

Question Number : 32 Question Id : 5459279324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& boy walks 4 km towards south. He turns left and walks 6 km. Thern he turns right and walks 6 k. In which
direction is he facing now?

Options:

1. % East

= % West
3. % MNorth

4. % South

Question Number : 32 Question Id : 5459279324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ASHT SIG0 & T 4 Top 1T, TeaT 81 a5 =T G2aT & oW 6 T 0t =ear 21 T 95 o0 gedr & o € TR dt. a@aT 81 are I9@
T Torer T o §7

Options:

1. %
2 % uEw
3. % Fv

4 & hm

Question Number : 33 Question Id : 5459279325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& person walks 5 kim towards west. Then he walks 12 ki towards south. How far and in which direction is he
frorm the starting point?

Options:

1. % 13 km, North-east
2. % 12k, South-west
3. ¥ 13 kam, South-west
4. % 11 km, North-east

Question Number : 33 Question Id : 5459279325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 2T TP ol ST S e ol =reraT 31 05 o STgor i afi 12 e ait. =eiaT 51 oy W Teig & ferat g a0 i feam # 27

Options:

1. % 13 frdt, sov-md

o % 12 T, Sigr-ukm
= ¥ 13 WA, iE-uEm

4 % 11 fwdAr, -

Question Number : 34 Question Id : 5459279326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the wrong figure from the given series.

+  #| [+ #][+++ | [+ + +][++
4+ + |[|#+ +||[+++]] +
+ 4+ ++ + + #||++++

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

——

| [t

+ + +
+ + +
-+ %

Question Number : 34 Question Id : 5459279326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT g . SF Y AfEeT § & AT STgid T g

+  #|[++ #][+++ ||+ + +][++
4|+ |[|#+ +|[+++ +
+ & + + + + + #||++++

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

e

+ + +
+ + +
+ %

+ &+ %
+ +
+ +




+ &

Question Number : 35 Question Id : 5459279327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the wrong figure from the given series.

A A A Ay AT
v v vV v A
A A A
Options:
A
\v
1. %
A v
Vv
2 & a
AT
v A
3.«?“5
A
Vv
4 ® o

Question Number : 35 Question Id : 5459279327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt wag ® St T AEe # € AT ST @

A ARY)

<Nz
1>l

1> <>
(= [

1<

Options:

<nz>




I><n>
<l

1><

1><I1>

3 v

v 2

Question Number : 36 Question Id : 5459279328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

WALEARD

1{-:1.'41 ?
[V|ef|td

Options:

t 7
v 2

$o~

3 v

$0

Question Number : 36 Question Id : 5459279328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T &t I ST W AT ¥ Hfe w5t wy
WALEARD
le<|@ly| 2
1V|ef|tg

Options:

T2

$o~

40

Question Number : 37 Question Id : 5459279329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a mmirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

q
2SR
A

A=~<TTTTTSST B

Options:




o %
Ak I
®e
¢ |o ol
3 % d
[V
S8 8lk
4. % d

Question Number : 37 Question Id : 5459279329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T 2T T AR YT T T N, 9T S T T Tt i A o o ot we et A |t uia i

o
2SR
A
A~TTTTTSSST B
Options:
1LV
s[88l
v L1d
7
SISk
o % d

= W
& i
=
Slealf
4 ® d



Question Number : 38 Question Id : 5459279330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.

Options:

Question Number : 38 Question Id : 5459279330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TTE IO ST B ¥ I IR ATE w1 g e # n ey AT

Options:

o [




Question Number : 39 Question Id : 5459279331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three positions of a dice are given below. What will not corme on the adjacent faces of a face containing 'B'?

< L &

Options:
1. ¥ G N

2. Ve T
3.% G, 7
4. ® T, N

Question Number : 39 Question Id : 5459279331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et e ure T A1 eraed 51 TR 8 R W ook o Sty theleh | O ST a1 AT

Options:
1. % G I
=Yg T

3% G, 7
4 % T N

Question Number : 40 Question Id : 5459279332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ev folding the given paper, which of the following cubes can be made?

7| #
91A

Options:

Question Number : 40 Question Id : 5459279332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o0 0 T F HE W, Rl § @19 97 0T a9 AT )97 57

7| #
91A

Options:

1%



= =

3%

4

rereral Awarenessl

Group Number : 3

Group Id: 545927463

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes
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Question Number : 41 Question Id : 5459279333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sekrenyi, Moatsu, Tokhu Emong and Tuluni festivals are celebrated in ______ state.

Options:
1. ¥ Nagaland

2. % Azzam
3. % West Bengal
4. % Odisha

Question Number : 41 Question Id : 5459279333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT, ST, T AT S el g ______ T § AT A 3
Options:

1. JdE

2. % an

2 % g e

4 % 3T

Question Number : 42 Question Id : 5459279334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fathi darwaza 15 located in

Options:
1. ¥ Srinagar

2. % Berngaluru
3. % YVaranasi

4 # Jaisalmer

Question Number : 42 Question Id : 5459279334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FET ST, ______ AT CE

Options:
1. ¢ o

2 % AT
= % gmeToTdT
4 R FgAT

Question Number : 43 Question Id : 5459279335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The dancers of Bhutia folk dance "Tashi Sabdo” dance to the melodious tunes duly supported by which
rmasical instrurnent’?

I. Fianao

II. Drum
III. Flute
IV, Tabla

Options:



1. %1

2. % I

3. % Both 11 & 111
4. % Bothl &1V

Question Number : 43 Question Id : 5459279335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT A oo "TT Feg " & Ad o o Ty I T Guie! ga1 O o d i 57

1. =T

I gW
111, aIger

1% Tetell
Options:

1. %]

2 %0

3 V11 &I 2+t
4 ¥ 1 &IV AT

Question Number : 44 Question Id : 5459279336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 which state the Sanchi Stupa is located?

Options:

1. ¥ Madhva Pradesh
2. % Ittar Pradesh

3. # Tarril MNadu

4. % Harvana

Question Number : 44 Question Id : 5459279336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
it &7 T 7= § e 87
Options:

1. v Mg e

2 ¥ T wEa
3. % FiEE
4. % gl

Question Number : 45 Question Id : 5459279337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ gives guaranteed price and assured market to the farmers and protect them from the price fluctuations
and market imperfections.

Options:
1. % Minirmum Supply Price
2. ¥ Minimum Support Price

2. % Maxirmum Support Price



4. % Maxirmnum Supply Price

Question Number : 45 Question Id : 5459279337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ TR W RS Iod odT &, I o] ST G- g #3dT &, 3% 378 Iod § SaR-91d o T0e o1 & ST 2l
Options:

1. ¥ gam i ge

2. ¥ TATH i g

2. ® arfiepdw queie gra

4 % feerad A 2ed

Question Number : 46 Question Id : 5459279338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a function of Reserve Eank of India (REI?

I. Formulating Monetary Folicy
II. Issue of currency
III. Banker to banks

Options:

1. % landIl

2 % [TandIll
2. % Il andl

4. %1, 11 and III

Question Number : 46 Question Id : 5459279338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgferaT & @ oar and 1 T o (At ome ) @@ a7

1. Hifew T a9
IL. SATCT AT
1. T et

Options:

1. % I d9mll

2. % 11 q9rlll
I % 101 Tl

4. %1, 11 g9l

Question Number : 47 Question Id : 5459279339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of nominal to real gross dormestic product 15 a well krowr indesx of prices, which 15 called

Options:
1. ® Gross domestic product Calculator

= % Constant utility index
3. ¥ Gross domestic product Deflator

4. # Consumer Frice Deflator



Question Number : 47 Question Id : 5459279339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTEA (leh Febel Wie] ScUTS, 1 HlTew G O] Jo1g | SIUTd 1A o1 UF Hithg G i® &, e ______ HET AT &1
Options:

1. % Hepel Wi ouTg Uiarierd

2. ® TR U G

3. ¥ gF o] JodTg, STIEh T

4, % JUTHT HIAT ATEHITE

Question Number : 48 Question Id : 5459279340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Curd, Orange juice, Grapes, etC. taste sour because they ara

Options:
1. % acidic

. % basic

3. % nentral
4. % salty

Question Number : 48 Question Id : 5459279340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRT, | AT G, SN, ST o €AIg Wl g g Al LR
Options:

1. v et

2. % g

3. % goer

4 % qHER

Question Number : 49 Question Id : 5459279341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Acid rain contains which of the following acids?

Options:

1. % Carbonic acid
= % Formic acid

3. # Phosphoric acid

4 % Sylfonic acid

Question Number : 49 Question Id : 5459279341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
st ot # FeimET # @ aar e gar g

Options:

1. Sl e
2 % wTHE o
3. % HIEmIE S
4 ® FEmiiaeE e



Question Number : 50 Question Id : 5459279342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cornplete the following: Sulphur dioxide + water ¢ =

Options:
1. % Sulphurous acid
2. % Marshall's acid

= % Sulphuric acid
4, % Peroxodisulphuric acid

Question Number : 50 Question Id : 5459279342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THTATET &7 @ 9 9ewe SEUTFEe + o =
Options:

1. & e &1F

2 % rsfer T e

3. % geuiea SR

4 ¥ WIHFAISTErE T S

Question Number : 51 Question Id : 5459279343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT an example of circular motion?

Options:

1.9 A bus moving on a road

2. % The wheels of a bus moving on a road
Z. % The blades of a ceiling fan

4. % Motion of a tied stone being whirled by hand

Question Number : 51 Question Id : 5459279343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e & & o s vl #7 JEmo TE a7
Options:

1. =F W I a9

2. ® HEw W aAdT 79 & Tig0

Z ® Of F U9 F T

4. % gy A S TF S g To T

Question Number : 52 Question Id : 5459279344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The electrical devices which are used to protect domestic electrical circuit form excess electric current is ______,
Options:

1. % fuse

2. % miniature circuit breakers

= # glectric bulb



4. % poth fuse and miniature circuit breakers

Question Number : 52 Question Id : 5459279344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T e Tereld e & ole] Terega—uioey T T4 @ o o 1o Ty auaont &1 Ui fepam <, & ______ B
Options:

1. % g

2. % oy o fHetew

2. % e are

4. g oft 71y ivwer g SEt

Question Number : 53 Question Id : 5459279345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fyruvate is a Cornpournd.

Options:
1. ¥ 4-Carbon

2. % S_Carbon
= % 3-Carbon
4. % 2-Carbon

Question Number : 53 Question Id : 5459279345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& & ATAT T 21

Options:

1. % 4-FE4
2. % SomET
3 ¥ ST
4, ¥ 2-mET

Question Number : 54 Question Id : 5459279346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Metarmorphosis in Frog 15 controlled by which horrone?

Options:

1. # Adrenalin
2. ¥ Thyroxine
2. % Insulin

4. % Testosterone

Question Number : 54 Question Id : 5459279346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hew § AemmE g Metamorphosis) & g aiT FaET o =T 87

Options:
1. % gEAamEnES
2. SETTIeT



3. % g
4. 8 FegredE

Question Number : 55 Question Id : 5459279347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Human beings havea ______
Options:

1. ® Single Chamberad

2. % 2-Chambered

3. ® 2-Charmbered

4 ¥ 4-Chamibered

Question Number : 55 Question Id : 5459279347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
LIECR: N el £ 1T &)
Options:

1. % pmww

2 & 2@

z. ¥ 3-mw

4  4-wrg

Question Number : 56 Question Id : 5459279348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is MNOT in India?

Options:

1. # Mizo Hills

2. ¥ Rocky Mountains

2. % Anarmmdi Mountains

4. % Khasi Hills

Question Number : 56 Question Id : 5459279348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T # 8 T4 IeT # TR a7
Options:

1. % TIAT geiqaTAr

=, ¥ T UET ST

3. % aEWET TdaHTAT

4, ¥ HEl qdTATAT

Question Number : 57 Question Id : 5459279349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Elack soil is found in which of the following states?

[. Maharashtra
II. Madhya Fradesh
I1I. Andhra Pradesh

Options:

1. ®¥ landll

2 % [TandIll
2. % Il andl

4. %1, 11 and III

Question Number : 57 Question Id : 5459279349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Tt TrieteT & & frm oo | o =t 87

I HETTE
II. 7ed nea
II1. &ITer wdar

Options:

1. % I d9mll

2. % 11 q9rlll
I % 101 Tl

4. %1, 11 g9l

Question Number : 58 Question Id : 5459279350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 also known as "Golden Fibre'

Options:

1. ® Cotton
=z 3ilk

= ¥ Jute

4. % Rubber

Question Number : 58 Question Id : 5459279350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ T g ¥ e it oft ST ST )

Options:
1. % U
2 % g

3 ¥ oz
4 8 &=

Question Number : 59 Question Id : 5459279351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Thurnming’ is another name for which of the following?

Options:



1. ¥ Shifting Cultivation
= % Contract Farming
2. * Commercial Farming

4. % Cormmercial Grain Farming

Question Number : 59 Question Id : 5459279351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Tt H 8 e geRr A g7
Options:

1. & T g

2. ¥ dfdgm g

3 % g g

4 & givti=aer e HY

Question Number : 60 Question Id : 5459279352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Kavals' is found in which of the following states?

Options:

1. ® Rajasthan

= % Punjab

3. ¥ Kerala

4. % Himachal Pradesh

Question Number : 60 Question Id : 5459279352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘FaT aiEET ® o i e § o aar g7

Options:
1. % T
2 % 09"
3 o 3
4. % TEHTEE udEr
ereral Awarenesse
Group Number : 4
Group Id: 545927464
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarenessz

Section Id : 545927464

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927556
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459279353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Meanders are associated with which of the following?

Options:

1. ¥ Rivers
Z. % Plateaus
3. % Soils

4. % Forests

Question Number : 61 Question Id : 5459279353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T | i (e Pt & fred datiT &
Options:

1. ¢ Tizt

o % UET

z. ® Tt
4 % gt

Question Number : 62 Question Id : 5459279354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho among the following was a disciple of Ramakrishna Paramhans?

Options:

1. ¥ Swarni Vivekananda

2 % Ishwar Chandra Vidvasagar
2. # Raja Ram Mohan Rovy

4. % Swarrrd Davanand Saraswati



Question Number : 62 Question Id : 5459279354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEEET # | B AT neAge o e 47

Options:

1. & vt fddwg

o, % degy T e
3. % TRAT I AIEA O

4. ® T IvE wEdd

Question Number : 63 Question Id : 5459279355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AE T # e g

Options:

1. % epfamer
= % EECATHT
3. % ShedATHT

4. ¢ g

Question Number : 63 Question Id : 5459279355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eanabhatta wrote which of the following?

Options:

1. % Dharrmashastra
2. % Baburnarma

3. % Akbarnama

4. % Harshacharita

Question Number : 64 Question Id : 5459279356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Shikhara’ is associated with the architecture of which of the following?

Options:

1. ® Mosque
z ¥ Termple
3. # Stupas
4. % Tombs

Question Number : 64 Question Id : 5459279356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T gl & & R areqee @ dete 27
Options:

1. % gierg

2 ¥ i

3% wy

4. % Feair



Question Number : 65 Question Id : 5459279357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which period has been described as the Golden Age of Indian History?

Options:

1. % Pratihara

Z % Rashtrakutas
3. % Chola

4. ¥ Gupta

Question Number : 65 Question Id : 5459279357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T BT AT 1 S TG Ie T &aul 0 FgT T 57
Options:

1. % nidEw

2. ¥ e

z % =

4 ¥ 110

Question Number : 66 Question Id : 5459279358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich movernent was started by Khan Abdul Ghaffar Khan?

Options:

1. ¥ Red Shirt
= % EBlack Shirt
3. % Yellow Shirt

4. % Green Shirt

Question Number : 66 Question Id : 5459279358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

G Segd THER G - T SIaiee i JoT & 417
Options:

1. & gt

2 % FTAIFAT

z. % didl Fa1

4 % gargdt

Question Number : 67 Question Id : 5459279359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is a Ehakti saint?

[. Kabir
II. Manalk
I1I. Tulsidas

Options:



1. ® landll

2 % 1l and 11
3 % [Mlandl

4 1 11 and III

Question Number : 67 Question Id : 5459279359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T § & 21 U A 99 57

1. Fel
II. AT %

1. et

Options:

1. % 199mll

2. % 11 qem il
3. % I 997l
4 %1 11 Fomlll

Question Number : 68 Question Id : 5459279360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who won Shanti Swarup BEhatnagar Prize 2018 for Mathematical Sciences?

Options:

1. % Dr. Rahul Banerjee
2. ¥ Dr. Armit Kumar

3. % Dr. Ganesh Nagaraju

4. % Dr. Arnit Agrawal

Question Number : 68 Question Id : 5459279360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TeT o Toig arife e qeanR [REw R 2018 T S

Options:

1. ® =T g e
2 ¥ 2T affd g
Z. % ZT M0 AR
4, % =T AT maTe

Question Number : 69 Question Id : 5459279361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wher is “World Day to Combat Desertification” obsersed?

Options:
1. ¥ 25th October

2. % 9th July
3. % 20th March
4 " 17th June



Question Number : 69 Question Id : 5459279361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“AFE B T FITT ST e T AT AT 57

Options:

1. % 28 afdgay
2 ® 9
3 % 20AM
4 & 1799

Question Number : 70 Question Id : 5459279362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was conferred with Gandhi Peace Prize 20187

Options:

1. * Wivekananda Kendra
= % Ekal Abhivan Trust
2. ¥ Yohel Sasakawa

4. % Desmond Tutu

Question Number : 70 Question Id : 5459279362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTElT AT Qe 2018 Tore e e e

Options:

1. ¥ Sdame dg

2, % UEd S TE
3. ¥ ARE AT
4 % ZaAzZ TT

Question Number : 71 Question Id : 5459279363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which Indian is conferred with Maldives highest honour Tishan [zzudesn Award' ?

Options:

1. ® Mamta Banerjes
= % MNarendra Modi
3. # Privanka Gandhi

4. % Nirmala Sitharaman

Question Number : 71 Question Id : 5459279363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T A 1T BT AT o Jelig S T Sre e STaTe | STiHT e T 27

Options:

1. % guar a1

2 ¢ T AT

3. % i el

4 % fder diawar



Question Number : 72 Question Id : 5459279364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which Indian writer won MNine Dots Book Prize 20157

Options:

1. % Annie Zaidi

= % Amitav Ghosh
3. % Armish Tripathi

4. % arundhati Roy

Question Number : 72 Question Id : 5459279364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A5 ST d o qeEa R 2019 g aid 19 oaEd o STy

Options:

1. ¥ TS

2. ® aiEe Oy
= % apftyr Burat
4. ¥ arFed g

Question Number : 73 Question Id : 5459279365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which [ndian actress worn Dany Kaye Humanitarian Award?

Options:

1. # Ajshwarva Rai Bachchan
2. % Herra Malini

3. # Deepika Padukone

4. ¥ Privanka Chopra

Question Number : 73 Question Id : 5459279365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T A 1 ST = 24T T ggaie e arde STy
Options:

1. % toorgt oy age

o % EErETREeT

3. % TR g

4, & TR TmeT

Question Number : 74 Question Id : 5459279366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Article 288 of the Constitution of India is related to

Options:
1. % power of parliament to amend the constitution

2. ®* impeachment of President

3. #* election of Vice Presidernt



4. ® governors of states

Question Number : 74 Question Id : 5459279366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AR T AT &7 arfedg 368 ______ & e 81
Options:

1. & [l T Garee w1 1 G @ A

o, % TEUid oy AR

= % gyt @ Maee

4 ® gt S e

Question Number : 75 Question Id : 5459279367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has powers to admit new states into the Union of India?

Options:

1. % President

2. % Home Minister
3. % Vice President

4. % Parliarment

Question Number : 75 Question Id : 5459279367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H A7 T2 ATTHA T W7 a1 Tereqar oy 27

Options:

1. % eofE
o ® gEAdr
% % o
4. v 9ag

Question Number : 76 Question Id : 5459279368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Equality of opportunity in matters of public ernployment is mentioned in which Article of the constitution of
India?

Options:

1.9 Article 16
= % Article 14
3. % Article 20

4 % Article 21

Question Number : 76 Question Id : 5459279368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A T @ Teae § S1e o auaT 9 197 Sl & B aede § 57

Options:

1. ¢ argedg 16



2. % ared 14
3. % argedgg 20
4 % grgeg 2l

Question Number : 77 Question Id : 5459279369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Directive Principles of State Policy are adopted from which country’s Constitution?

Options:

1. * British Constitution
2. ¥ Irish Constitution

2. ® Canadian constitution

4 % French Constitution

Question Number : 77 Question Id : 5459279369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T A o e goa Tore 2ar o |fchere & forr mar g

Options:
1. % i gicemT

2. ¥ s didemg
3. % o gitue
4 # Uy gl

Question Number : 78 Question Id : 5459279370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who got recognition as the winner of the Most Valuable Plaver 4VF) Trophy Award in Jakarta and Pelhamang
Asian Games 20187

Options:

1. % Arpinder Singh
2. ¥ Rikako [kee

2. % PV Sindhu

4. % Maria Sharapova

Question Number : 78 Question Id : 5459279370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AHTAT S AATelTT Tidems €d 2018 § o Seguad o] (00 31t §TET srend & o & & f o mreaa iw T

Options:

1. % sfiet iy
2. ¥ T Ame
3. % it ey

4. % qieT aRmET

Question Number : 79 Question Id : 5459279371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which country has won Under-19 [CC World Cup 20157



Options:

1. ® Pakistan
= ¥ India

3. % Australia

4. % England

Question Number : 79 Question Id : 5459279371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToFey 29T 7 2fEY - 190 AT e #2018 <9187
Options:

1. ® griepea
2 o ZiEaT
= % affedferr
4 ¥ ZiEE

Question Number : 80 Question Id : 5459279372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Asian Wrestling Charmpicnships 2019 tournament was held in country.

Options:
1. ®¥ India

2. % Indonesia
2. % Japan
4. % China

Question Number : 80 Question Id : 5459279372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTdTs ot eI 2019 g ______ S o ST T e 2

Options:
1. % gizam
o ® gt
= ® A
4. ¥
Arithrmetic Abalityl
Group Number : 5
Group Id: 545927465
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithrmetic Atalityl

Section Id : 545927465

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927557
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5459279373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For what value of M, 156N is divisible by 87

Options:
1.¥0
=z w2
3 % 4
4. % g

Question Number : 81 Question Id : 5459279373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
N o e AT &F 60 156N, & & [S=a &7

Options:
1.¥0
e %2
3. % 4
4 % g

Question Number : 82 Question Id : 5459279374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the value of 3/0.729 + +f7.29 + ¥0.0081?

Options:
1. % 33

2. ¥ 39
3% 41
4 % 43



Question Number : 82 Question Id : 5459279374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

30.729 + f7.20 + Y0.0081 FT AT T §7?
Options:
1. % 33

2. ¥ 39
3% 41
4. % 43

Question Number : 83 Question Id : 5459279375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whatisthevalue of (24 + 8 x4 - 16 -21)/(484+24- 12 x6 = 37

Options:
1. % 9147
= ¥ 548
3. % 3747
4 % 2041

Question Number : 83 Question Id : 5459279375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
24 +8 x4+ 16-21d43+24-12 =6 + ijﬂﬂ'l?rEFEIT%?

Options:

Question Number : 84 Question Id : 5459279376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fA=2+14 L anaB=L+ 1y then (a+B)=2
36 18 36 60 90 -

Options:

1. ® 256/289
= ¥ 2R39)324
3. % 256j441
4 % 2839)441

Question Number : 84 Question Id : 5459279376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬂﬁ;‘%=3+l+lHﬂTE=i+i+i?—ﬂ',(A+B]z=?
3 b Le 36 60 90

Options:



1. % 256)289
= ¥ 289/324
3. % 255441
4. % 289/441

Question Number : 85 Question Id : 5459279377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of (0.21)°+(0.07)’ x(0.14) +(0.26)* +(0.13)"x (02)" —(0.24)" +(0.4)* +(0.6)" 2
Options:

1. ¥ 186

= ® 288
3 ¥ 244
4 ® 312

Question Number : 85 Question Id : 5459279377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(021)° +(0.07) x(0.14) +(0.26) +(0.13)*x (02)’ = (0.24)° = (0.4)" + (0.6)" @1 #wer Faw #2
Options:

1. % 186

o ® 28R
3. ¥ 2 44
4 ® 512

Question Number : 86 Question Id : 5459279378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What isthe valueof (24 + 8 - 10 x 8+ 9-21)/(58 + 24 x 6 = 10 - 817
Options:

1. % 58
2. % 308
3 % 307
4. v 217

Question Number : 86 Question Id : 5459279378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
24+ 31038+ 9-ZL)/ic5+24 xE + ID—B)EI*T[H'I:FEF’-]T%?

Options:
1. %5
o %3
3 %3

13
13
[
4 ¥ 2|7



Question Number : 87 Question Id : 5459279379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 A6 .50 6. 15 0

—_——— e e ——— e W —
Whatis e vaineof Tle 22 & & 7 21 4,
i 2Ty
&k R a8
Options:
1. ¢ -34
> ® _1)2
2 % _3/g
4 % _1)4

Question Number : 87 Question Id : 5459279379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 16 3 12 6 138 9

11722 4 0 7 21 4 g me T 22

1 1 1
& & 2 2
Options:
1.9 -3/4
= % -1z
3. % -32/8
4. % -174

Question Number : 88 Question Id : 5459279380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If & = Least Cormrnon Multiple of (23), (3/5), (8/71and B = Highest Common Factor of (7)9), (3/5), (1j4), then
what is the value of (& + B) x A7

Options:

1. % 107130

2. % 1101j240
3. % 108130

4 % 1701/120

Question Number : 88 Question Id : 5459279380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%1;%5 (2130, (3/5), (6]7) & FTgad FHUECE T E = (790, (3/5), (1/4) 1 Aga0 GUIad & 5, a1 (A + B) x A &1 9 47

Options:
1. % 1071

Iz
2. % 1101/240
3. 10813
4 % 1701/120



Question Number : 89 Question Id : 5459279381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whatisthe valueof 18 + 2 x54 4+ 27 + 362 + 5 = 77

Options:

1. % 5208
2 ¥ 8578
3. % 5ZER

4. % 4808

Question Number : 89 Question Id : 5459279381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
18 -3 %54+ 27+ 362 + 5 %7 ETAMFAT L7

Options:

1. % 5209
= ¥ B57.8
3. ¥ C2ER
4. % 4808

Question Number : 90 Question Id : 5459279382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When W is divided by 5, 6 and 3 it leaves a remainder 2, 4 and ¢ respectively, What can be the value of MY

[.1915

II. 1558
III. 2158
IV, 203%

Options:

1. % land IV
Z % IVandll
3. ¥ ITand I
4. % 1T and Il

Question Number : 90 Question Id : 5459279382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AN FTE, & TT 8 & T o 9T & oF S0 FAE 3, 4 T 6 F1=4T 51 N & AW 497 5T 9T 57

[.1918

II. 1558
III. 2158
IV, 2035

Options:

1. % 139V
% IV qurll
3. 9111 Femlll
4. % 11 q9TIIl



Question Number : 91 Question Id : 5459279383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If discount offered on an article is Rs 280 and the selling price of this article is Bs 1220, then what is the ratio
of the marked price of this article to the discount offered?

Options:

1. % 740
2. % 11:37
3% 3711
4 % 407

Question Number : 91 Question Id : 5459279383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aﬁqwgﬁwzaﬂ BT T T o AT 8 T 59 g @ e grd 1320 T E, 91 59 aeq o i T @ ol TR ge  FaT
1. % 7:40

z ®11:37

3z ¥ 37:11

4 ¥ 407

Question Number : 92 Question Id : 5459279384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rajan purchases a watch for Rs 2000 and marks its marked price in such a way that after allowing a discount
of 10 percent, he still earns a profit of 20 percent. What is the marked price of the article?

Options:

1. % Es 4000
2. % Rs 4200
2 % Rs 5400

4. % K5 4300

Question Number : 92 Question Id : 5459279384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T U B2T T 3000 0 # GUgdT 8 997 39k 2ifohd Yo %1 287 Wb Sffehd ®ear & T 10 WIS & ge o o W o 39
20 Wit e & AT BT 31 oeq, 7 STd Go T4 57

Options:

1.9 4000 T
2 % 4200 w0
3. % 5400 T
4. % 4500 w0

Question Number : 93 Question Id : 5459279385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Average of 34 numbers was calculated as 15 Three nurmbers 14, 56 and 22 were wrongly taken as 47, 51 and
28 If we now consider the correct numbers, then what is the corrected average?

Options:



1. % 17
2 % 18
3% 14
4. % 19

Question Number : 93 Question Id : 5459279385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

34 el @ ST 15 uieried S T e i SEanel 14, 56 T9T 32w Ted 1 & 47, 51 797 38 o ST mar em i 5w
37T ST T Ted Wem e T8 ot Il g T5! TEdn] (i @t af gl dad a1 gii?

Options:
1. % 17
2 % 18
3.9 14
4. % 19

Question Number : 94 Question Id : 5459279386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
117¢ is what percentage of 16207

Options:

1. % 20 percent
= % B0 percent
3. % 90 percent
4 ¥ 70 percent

Question Number : 94 Question Id : 5459279386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1176, 1680 & ehaqr nidaT 27

Options:

1. % 30 uidem
2. % gondaT
3. % 90 nideT

4 % 7o udaT

Question Number : 95 Question Id : 5459279387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 T 40 Wied & 2T 7T § 92 T 56 70 WidST € S5 T 81 ] @ SEH 9 ] o IR AT @ AT il 57

Options:

1. % 112 uidem
2. ¥ 102 ofdaT
3. % 98 Ui
4. % 94 nideT

Question Number : 95 Question Id : 5459279387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Jis decreased by 40 percent and then it is increased by 70 percent. Final value of J is what percent of initial
value of J7?

Options:

1. % 112 percent
= ¥ 102 percent
3. # 98 percent
4. % 94 percent

Question Number : 96 Question Id : 5459279388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I is 80 percent more than T. T is 25 percent more than G. G is 40 percent less than H. I is what percentage of
HY

Options:

1. % 125 percent
2. ¥ 13E percent
3. % 140 percent
4 # 130 percent

Question Number : 96 Question Id : 5459279388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
N, T & S0 Widad oM 81 T, G ¥ 25 Uidad i 51 G, H ¥ 40 uidsd &9 51 N, H %7 -1 nidad 27

Options:

1. % 125 uidem
2. ¥ 135 Ofdaa
3. % 140 oidaT
4, % 130 OfdaT

Question Number : 97 Question Id : 5459279389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The selling price of a laptop is Rs 4000, If the profit percentage is 25 percent, then what is the cost price of the
article?

Options:

1. % Rs 3200
2. % Rs 3600
Z. % Rs 3000
4. % Rs 3400

Question Number : 97 Question Id : 5459279389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e o0 1 &7 feohar G 4000 20 81 I @1 uided 25 Uidsd g, 97 a%q &1 %4 o d 947 27

Options:

1.9 3200 T
= % 3600 w0
3. % 2000 ¥
4, % 3400 w0



Question Number : 98 Question Id : 5459279390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An article is sold for Rs 1150 at a profit of 25 percent If one wishes to increase the profit percentage to 80,
then what will be the selling price of the article?

Options:

1. % Rs 1532
2. % Rs 1448
2 % Rs 1368
4 ¥ Rs 1472

Question Number : 98 Question Id : 5459279390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U a%q @ 1150 20 f 25 Hidad & & 0% &l T 8 97 60 Uidad AT STFd AT 51 a7 aeq T Taded Hed T g?

Options:

1. % 1532 7o
2 % 1445 w0
% % 1265 T

4 & 1472 =3

Question Number : 99 Question Id : 5459279391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The profit earned by selling a watch for Bs 18380 is equal to the loss incurred by selling the same watch for Rs
1040 What should be the selling price of the watch to earn a profit of 25 percent?

Options:

1. ¥ Rs 1971
2. % Rs 1873
2. % Rs2013
4 % Rs 1963

Question Number : 99 Question Id : 5459279391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TSl 1 1880 T H el % FHTE AT 6 S92l B 1040 o0 # w2 U 5 g1 & alek g1 35 Wi @ & Fa &
Options:

1.9 1971 7ot

> ® 1573w
T ¥ 2013 w0
4 ® 1963 w0

Question Number : 100 Question Id : 5459279392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
: a’ + b’
Ifa:b=2:1, then what is the valueof —___ 2
a’—b"



Options:

Question Number : 100 Question Id : 5459279392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2%’
ﬂﬁa:b=2:1§.ﬁz—h}aﬂm}rwﬁ?
a_

Options:

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Arithrmetic Alality2

6
545927466
0

0
No
No
0
20
Yes
0

0

Arithmetic Ability 2

545927466
1

Online
Mandatory
20

20

20

Yes

No

1
545927558
Yes



Question Number : 101 Question Id : 5459279393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of the annual incorme of Rohit and Eahul is & 7. The ratio of their expenditures is % 11. If each
saves Rs 3000, then what is the annual income of Rahul?

Options:

1. % Rs 18000
2. % Rs 16000
2. % Rs 14000

4 % Hs 12000

Question Number : 101 Question Id : 5459279393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁam&aﬁaﬁmmme:?%mmmwg: 11 81 7l Wedier 3000 4 ST 3, a7 Tge @l e
ST T &

Options:

1. % 18000 T
2 % 16000 7o
3 ¥ 14000 T
4, % 12000 70

Question Number : 102 Question Id : 5459279394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥, ¥ and Z started a partnership. ¥ invested sorme money at the beginning. After & months ¥ invested double
the amount that ¥ invested. After 8 months Z invested thrice the amount that ¥ invested. If the annual profit is
Es 21000, then what is the share of 27

Options:

1. % Rs 39000
= % Rs 7000
2. % Rs 2000

4. ® Hs5 6000

Question Number : 102 Question Id : 5459279394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X, Y T9T Z UF Al #d o) X €A § FF 067 el TeaT 81 6 015 BT ¥, K o e 8 ST Mey AT g 8 01 w0 2,
¥ @ T € 1 1T T gt 81 i e A 21000 T g, 97 2 9T s a4 87

Options:
1. ¥ 9000 7

= & 7000 T3
3 ® g000 U
4 ¥ go00 =

Question Number : 103 Question Id : 5459279395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Es 31000 gives Rs 8370 simple interest in t yvears. If the rate of interest is 9 percent per annurm, then what is
the value of t7?

Options:



1. ® S wears
= % 2vyears
3. * 4vaars
4. ¥ 32 years

Question Number : 103 Question Id : 5459279395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
21000 703 t T # §370 0 AT =41 & o) Tie, edT ol 2¢ 9 WG9 wia & &, 7+ &7 AT &7 27

Options:

1. % 5
o % 2Ty
3 % 4
4 ¥ 39

Question Number : 104 Question Id : 5459279396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When kept at simple interest, Bs 18000 becomes BEs 29520 1in 4 vears., How rmuch will it becorme in 9 years?

Options:

1. ® Rs 42860
=z ¥ Rs 43920
3. % Rs 45860
4. % Rs 44340

Question Number : 104 Question Id : 5459279396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR &7 0T ¥ = 0 15000 20 4 g # 29520 s 51 19 §1 9% 9 auf # fra- gf e

Options:

1. % 42860 704
o ¥ 43920 T
3. % 45560 T

4. % 44940 TF

Question Number : 105 Question Id : 5459279397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Es 40000 are kept at compound interest. If the rate of interest is 15 percent per annurm, then what is the
interest for = vears?

Options:

1. ®¥ Rs 2108&
= % Rs 19225
3. ® Rs 21415
4 ¥ Rs 20835

Question Number : 105 Question Id : 5459279397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



40000 0 BT TF kg, =T UL THT AGT 71 Fie, e AT ol 2% 15 WTaT Al ad &, 77 3 o &7 sar o gi?
Options:

1. % 21085 7o

2. % 19225 w0

3. % 21415 704

4 ¥ Z0RIS w4

Question Number : 106 Question Id : 5459279398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Speed of a boat in downstream is 12 kmjhr and speed of boat in upstream is 2 kmjhr. What is the speed of
strearm?

Options:

1. % 11 km/hr
2. % 13 km/hr
2. ¥ 5 kmjhr
4 % 4 km/fhr

Question Number : 106 Question Id : 5459279398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e ST &1 TTia 2T o arget 18 T A [ ©eT § T2 31 o Tid &R 3 Wiagre o o Aty aer 1 ey &1 mia = 27

Options:

1. % 11 T @t ger
2. % 13 WA e
3. ¢ SRR AL e
4, % 4 T ot e

Question Number : 107 Question Id : 5459279399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A boat can row 10 kam in S hours in still water, It can row 60 lan dowmstreann and 40 lan upstrearn in 60
hours. What is the speed of the stream?

Options:

1. % 025 km/fhr
2. % 05 kmihr

2. % 1E5lkmjhr

4 % 1 kmjhr

Question Number : 107 Question 1d : 5459279399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T A R FA H S U # 10 fr dt aa a1 81 95 60 9 # 60 Fr Al oy & s 727 40 TF At oRT % uid g o ad ! 8l
TR T T FT 37

Options:

1. % Q.25 foF #AT jger
2. % 0.5 fFdr e

3. % 15 fwdn e

4 & 1 Trdtr e




Question Number : 108 Question Id : 5459279400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& car moves at the speed of 60 km/hr and reaches its destination 50 minutes late. If car mowves at the speed of
100 krmfhr, then it reaches its destination 30 rmunutes early. At what speed would the car reach its destination
exactly on tirme?

Options:

1. % 96 km/hr
2. % 24 kmfhr
2% Y2 kmfhr
4. % 20 lanhr

Question Number : 108 Question Id : 5459279400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T BT 60 Tof /Y, 5T o 1T 9 ZIed 1§ T S0 Tided €0 0¥ 50 THee T ¢ & Ugad! 81 =g &) 100 T dt. (2T &1 e &
=1 g, T ST TRed € 0T 30 T8 Aea] Uge Ad 1 51 Hgl GHT 0 U o oy @) & T1id Far g

Options:

1. % 9g fp ot ger
o % g4 TE A e
3 % 7o A e

4 " 20 fr |t rueT

Question Number : 109 Question Id : 5459279401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o rmen and 4 boys can complate a task in 15 days. 4 men and =2 boys can complete the sarme task in 12 days.
Howr rrmach tirme will 2 men and 2 bovys take to finish the work?

Options:

1. ¥ 420719 days
2. % 420017 days
I % 22 days

4 % 20days

Question Number : 109 Question Id : 5459279401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3 qEY 9T 4 Ad U w15 T o 9 awd 31 4 (60 9907 3 Asd Sat @ @ 12 Tod § 3 9% 8 2 06T a9 3 d@5d w
I T F | T ww we

Options:

1. 420j19 77
2. % 420017 2T
3 % opfew

4. % 20fT

Question Number : 110 Question Id : 5459279402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ram and Shyam together complete a task in 20 days. If Ram alone can cormplete half of the work in 15 days,
then i how many days can Shyam alone complete the same task?



Options:

1. % 20 davys
2. % 403 days
3. ¥ B0 days
4. % g0J7 days

Question Number : 110 Question Id : 5459279402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T S 290 ek 1 @1 20 T o [T 3 Aefd gl a1 T ShaT T 1 @1 15 757 § 01 9 AeFd 1 &, T1 S99 ST Ga F
! Tra fom o q@1 9 | 27

Options:

1. % 301"
2 % 403 T
= Y E0RT
4. % g0f7 e

Question Number : 111 Question Id : 5459279403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& alone can complete a task in & days. B alone can complete the same task in 10 days. With the help of C, they
can do the same amount of work in 2 days. If they receive a amount of s 2500 to complete the whole task,
then what is the share of C7

Options:

1. % REs 750
2. % RsE500
2. % Rs 850
4. % Rz 1000

Question Number : 111 Question Id : 5459279403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AFAIUFFH B S A aFa s E e s el 10 RA A araTn C HAeg &, doam o or 2 Ra A aw
T gl TG Svg @90 T G FA F o7 2500 0 HT O OIS U g g, a7 C W fgedr FaT g7

Options:
1. % 700 &0

= ® o0 s
S ¥ g00 e
4 % 1000 0

Question Number : 112 Question Id : 5459279404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T O W1 AT, daTe U7 S @ AT 30 9.0 81 56T fo@vi 20 €1l Far 81 94T W el JET S0 7 57

Options:

100 H.HT.2

1. =



o o S00 /A2

250 T.HT.2

3.%:5

650 H.HT.2

4 ®

Question Number : 112 Question Id : 5459279404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sum of the length, breadth, and height of a cuboid is 30 cm. [ts diagonal is 20 cm long. What is the total
surface area of the cuboid?

Options:
% 100 cm-

- 500 cm?
- % 250 cm?

650 cm?

Question Number : 113 Question Id : 5459279405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The lengths of the parallel sides of a trapezium are 60 cmand 30 o respectively. The lengths of the non
parallel sides are 10 cm and 20 cm respectively. What is the area of this trapezium?

Options:

135-/15 cm?
s 175+/15 cm?

. 235:15 cm?

" 215-f15 cm-

Question Number : 113 Question Id : 5459279405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T STHTTCH i HHITE Y13 Bl Fiells FHa: 60 ST T7 30 WAL §1 SHAMEE Grsit & /e #HE 10 AL 79720 4.
n°r 21 5 ST F1 ahe a7 57



Options:

| x 135415 T2
v 175+f15 T.HT2

235415 A2
3w

4 % 215415 W2

Question Number : 114 Question 1d : 5459279406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The total surface area of a cylinder is 1760 cm?. If the
radius of the cylinder is 14 cm., then what is the height
of the cylinder?

Options:

1. % 5cm
2 % Fom
2. ¥ Ecm

4 % Zrm

Question Number : 114 Question 1d : 5459279406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ueh Sfolel T ol qeord arAhel 1760 H.AL? &1 A1g
Setel I Hedr 14 T g, o 99 & ars 4T 87
Options:

1. % SHdn

o ® 7EAn

3 v sad

4 % g

Question Number : 115 Question Id : 5459279407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart given below shows the number of buses that departs from different bus stations on Monday.
The number of buses that depart from a particular bus station on Monday are shown as the percentage of the
total number of buses that depart on Monday.

If the total number of buses that departs on Monday are 2300, then the number of buses that departs from
E1 is how much more than the number of buses that departs from BE3?

Options:

1. % 210
2. % 220
3. ¥ 230
4. % 240

Question Number : 115 Question Id : 5459279407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tz e g TE Amar w S o agt & e o’ a9t & G #F gaiaT g1 UF dide s g & Sma) & Haw
TTeT o] & HET T AR B et STl Sl ol gl ST o Hid o 3 & H Sarir 72 21

e FHAW ® e Tl a6t & §dd 9T 2300 §, T B 1 & Twa adt a6 &l 9%, B3 | W@ are! a9t &f 9ear |
Tepa-T arfda 27

Options:
1. % 210

2% 220
3. ¥ 230
4. % 240

Question Number : 116 Question Id : 5459279408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of defective tube lights in different lots.

Lot Number of ‘defective
Tube lights

L1 54

2 63

53 47

L4 46

L5 65

what is the average number of defective tube lights per lot?
Options:
1. ¥ G
2. % B0
3. % 6L
4 % 70

Question Number : 116 Question Id : 5459279408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl ST T TR Ta Ty @iel § S wd Ase ! il |l gl gl

dlc | @Ua Td wgel @
HEAT

1 54

{5 63

L3 47

14 46

L5 65

Options:
1. % EE

2. % 60
2% ES
4. % 70

Question Number : 117 Question Id : 5459279409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart given below shows the nurmber of cars parked in a parking area on different days of a week. The
nurnber of cars parked in the parking area on a particular day are shown as a percentage of the total nurnber
of cars parked in the parking area.

I'.!_ﬂf”'---- I
L Dd

\ B4 | B
N, 19% 21% /
-, ___,/

=,
.

Wwhat is the difference in the central angle formed by sectors for D and DE?
Options:

1. % 12°

2 % 140

3. % 16"

4. 9 18"

Question Number : 117 Question Id : 5459279409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T T e o e g S TR Rt o e TR by et mit e o gt ) i dv i oo e
UL Gl T T TS At &1 6T @1 Ui &F § @al & TR0 et & e 9T o Hid o o & H gaiar 72 gl

D= T DS & G905 ZWT 919 T g 1 17 H /7 29w &7
Options:

1. % 12°

2. % 140

=% 15"

4 9 13"

Question Number : 118 Question 1d : 5459279410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of head phones of different companies sold by a shopkeeper on
a particular day.

250 4

200 ~Hq 163 173 1‘9
150 { = "‘a,.,/\,/

100 4 '

50 1

Nusnber of head phones
-
d

U‘ - - ¥ " ¥ * " 1
Cl C2 C3 C4 C5 C6 C7

Company

Wwhat is the average number of head phones sold by the shopkeepers per company?
Options:

1. ¥ 15257

= ¥ 16257

3. % 17257

4. % 18257

Question Number : 118 Question Id : 5459279410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
<t e T v o e e 6 v U g e @R s Y g @it o g2 I i ST i AT 51
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GG &R il T Uid U1 52 DI ol SITHa e o7 37
Options:
1. ® 15257

2. ¥ 15257
3. % 17257
4. % 18257

Question Number : 119 Question Id : 5459279411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of wormen working in the agricultural field in different months.

MNumber of women

m.
50 4
40 4
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20 4
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M1 M2 M3 M4 M5 M6 M7 M3

Months

The number of women workingin the agricultural field in month M2 is how much less than the total number of
wormen working in agricultural field in months M5, ME, M7 and ME?

Options:

1. % 143
=z ® 147
3. ¥ 159
4. % 149

Question Number : 119 Question Id : 5459279411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 143
=z ® 147
3. ¥ 159
4. % 149

Question Number : 120 Question Id : 5459279412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of girls selected fordifferent internships awvailable in an office.

p. I

4 11 13
il

I1 12 13 14 15 I6 I7 I8 I9 110
Intership

Muwn ber of Girls
(]
=

The number of girls selected for the internship 110 is what percentage of the total number of girls selected for
the different internships in the office?

Options:

1. % 1556 percent
2. % 20.56 percent
3. % 25 56 percent

4, % 30,56 percent

Question Number : 120 Question Id : 5459279412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 1556 nidea
2. % 20.56 nideT
% ® 2556 nideT
4. % 30.56 nideT
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Group Id : 545927467
Group Maximum Duration : 0
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Revisit allowed for edit? : No

Break time: 0
Group Marks: 20
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Section Id : 545927467

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927559
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 5459279413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

They are very (1) | proud about (2) | their success (3) . Mo error (4)
Options:
1.%1
2. ¥z
3% 3
4 % 4

Question Number : 121 Question Id : 5459279413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Thew are very (1) ) proud about (2) 1 their success (23 [ MNo errcr (4)
Options:
1.%1
= W2
3% 3
4 % 4

Question Number : 122 Question Id : 5459279414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

e had to (1) | write the paper (2) [ with ink (3) | Mo error (4)
Options:
1.%1
2. w2
3% 3
4 ¥ 4

Question Number : 122 Question Id : 5459279414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

We had to (1) | write the paper (2) | with ink (3) | Bo error (4)
Options:
1.%1
2 w2
3% 3
4 ¥ 4

Question Number : 123 Question Id : 5459279415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Distribbute the rmangoees (1) | 1o the (2) | students (3) [ No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 123 Question 1d : 5459279415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Distribute the mangoes (11 [ w0 the (2 | students (3) . Mo error (4)
Options:
1.% 1
2. V2
3. %3
4 % 4

Question Number : 124 Question Id : 5459279416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

He has been (1) | sleeping since the (23 [ last 3 hours (31 [, BNo error i4)



Options:
1.%1
2. V2
3% 3
4. % 4

Question Number : 124 Question Id : 5459279416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

He has been (1) | sleeping since the (2) [ last o hours (2) [ No error (4)
Options:
1.% 1
2. V2
3% 3
4 % 4

Question Number : 125 Question Id : 5459279417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘MNo error’.

The essay was written (1) | in her (2) | with a fountain pen (3) /. No error (4)
Options:
1.% 1
2. V2
3% 3
4 % 4

Question Number : 125 Question Id : 5459279417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

The essay was written (1) | in her (2) | with a fountain pen (3) /. No error (4)
Options:
1.%1
2. v 2
3% 3
4 % 4

Question Number : 126 Question Id : 5459279418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

Do not translate word (for) word.
Options:
1. % with



2. % gt
3 % in

4.9 Mo Improvement

Question Number : 126 Question Id : 5459279418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

Do not translate word (for) word.
Options:

1. % with

= % at

3. % in

4. % No Improvermnent

Question Number : 127 Question Id : 5459279419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

We must inguire @hout) the matter.
Options:

1. % into

2 % o

3. * for

4. % No Improvermnent

Question Number : 127 Question 1d : 5459279419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

We must inguire @hout) the rmatter.
Options:

1. % into

2. % to

3. % for

4.9 Mo Improvement

Question Number : 128 Question Id : 5459279420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

Why 15 Sita knocking {on) the door.
Options:
1.9 at
z % by

3. #® upon



4. % No Improvernent

Question Number : 128 Question Id : 5459279420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

Wwhy i3 Sita knocking (on) the door.
Options:

1. ¥ at

=z %® by

2. * upon

4. % No Improvermnent

Question Number : 129 Question 1d : 5459279421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

Entering the room, 1 found the light quite (dazzle).
Options:

1. % dazzles

2 ¥ dazzling

2. ® dazzler

4. % No Improvermnent

Question Number : 129 Question Id : 5459279421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Entering the roorm, I found the light quite (dazzle).
Options:

1. ® dazzles

2. ¥ dazzling

3. % dazzler

4. % No Improvernent

Question Number : 130 Question Id : 5459279422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

The tirne of the singing of birds thave) come.
Options:

1. % iz

Z % are

3. ¥ has

4. % No Improverment



Question Number : 130 Question Id : 5459279422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The time of the singing of birds (have) come.
Options:

1. % is

2. % are

3. ¥ has

4. % IMNo [mprovernent

Question Number : 131 Question 1d : 5459279423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Eread and butter ______ his only food.
Options:

1. % are

2. ¥ is

2% ypere

4. % hawve

Question Number : 131 Question Id : 5459279423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Eread and butter ______ his only food.
Options:

1. % are

= ¥ iz

3% yeere

4 % hawe

Question Number : 132 Question Id : 5459279424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Heasked e what ______ doing.

Options:
1. % wmas

2% yere
% % has

4. #® hawe

Question Number : 132 Question 1d : 5459279424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He asked me what [ ______ doing.

Options:
1. % was

2. % yeare
3. % has

4. % hawe

Question Number : 133 Question Id : 5459279425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

There is something pleasing

Options:

1. % eglse
2. % on

2. ¥ about

4 % to

Question Number : 133 Question Id : 5459279425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

There is something pleasing
Options:
1. % alza

2% on
2% about

4 % to

Question Number : 134 Question 1d : 5459279426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She likes the same colour ______ I do.

Options:
1. % as

2. % dowt
3% by

4. % also

Question Number : 134 Question Id : 5459279426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She likes the same colour [ do.



Options:

1. ¥ as

2. % dowtl
2% by

4. % also

Question Number : 135 Question Id : 5459279427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

spoke in his favour.
Options:

1. % Every

2. % Each

3.9 Al

4 % Ag

Question Number : 135 Question 1d : 5459279427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

______ spoke in his favour.
Options:

1. % Every

2. % Each

3.9 Al

4 % As

Question Number : 136 Question Id : 5459279428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The moral lawis ______ the civil.

Options:
1. # around

2. % less
32 % above
4. glge

Question Number : 136 Question Id : 5459279428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

The moral lawi1s ______ the civil.

Options:
1. % around



2. % less
= % abowe
4 % glge

Question Number : 137 Question Id : 5459279429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

She came ______ the appointed time.
Options:

1. % any

= ¥ before

2. % since

4. % enough

Question Number : 137 Question Id : 5459279429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

she carmne the appointed tirme.

Options:

1. % any
2. ¥ before
= % since

4. % enough

Question Number : 138 Question 1d : 5459279430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

e tried hard,
Options:

1. % also

2. % and
2% if

4.9 but

did not succeed.

Question Number : 138 Question Id : 5459279430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

We tried hard,
Options:

1. % also

2. % and

3 = if

did not succead.



4% bt

Question Number : 139 Question Id : 5459279431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts of a sentence, Cut of the four options given, select the
most logical order to form a coherent sentence.

F: us bevond measure
O texture and fineness
E: their delicacy of

5. of finish astonished

Options:

1. % PORS
2. % SROF
2. % ROSP
4 % REQF

Question Number : 139 Question Id : 5459279431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled parts of a sentence, COut of the four options given, select the
most logical order to form a coherent sentence.

F: us beyond measure
I texture and fineness
E: their delicacy of

5. of finish astonished

Options:

1. % PORS
2. % SROP
2. ¥ ROSP
4 % REQFP

Question Number : 140 Question Id : 5459279432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled parts of a sentence, Out of the four options given, select the
most logical order to form a coherent sentence.

F: a long and happy married life
O the occasion blessed the couple
E: and wished them

5. all the people present on

Options:

1. ¥ SORP
2. % PORS
2. % SROP
4 % SPOR

Question Number : 140 Question Id : 5459279432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled parts of a sentence, Out of the four options given, select the
most logical order to form a coherent sentence.

F: a long and happy married life
; the occasion blessed the couple
E. and wished thern

5. all the people present on

Options:

1. % SORF

2. % PORS

2. % SRECQF

4. % SPOR

eneral Englishz
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Group Id: 545927468

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0
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Question Number : 141 Question Id : 5459279433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: and very often prayers bring miraculous results.

& it must come from the depth of the heart, not merely from the lips.
E: but the condition is that the prayer should be sincere and genuine.
5. when all human efforts fail, man takes on prayer.

Options:

1. ¥ SPRC
2. % PRSQ
2. % SQRF
4 % PORS

Question Number : 141 Question Id : 5459279433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

P: and very often prayers bring miraculous results.

& it must come from the depth of the heart, not merely from the lips.
E: but the condition is that the prayer should be sincere and genuine.
S: when all human efforts fail, man takes on prayer.

Options:

1. ¥ 5PRC
2. % PR5SQ
2. % SQRP
4 % PORS

Question Number : 142 Question Id : 5459279434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given below out of which only one word is spelled correctly. Select the word with the correct
spelling.

Options:

1. * Recomend
2. % Reccornend
2. % Recoomend

4. % Recorrrmend

Question Number : 142 Question 1d : 5459279434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given below out of which only one word is spelled correctly. Select the word with the correct
spelling.

Options:

1. * Recomend
2. % Reccornend
2. % Recoomend

4. % Recorrrrend



Question Number : 143 Question Id : 5459279435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given below out of which only one word is spelled correctly. Select the word with the correct
spelling.

Options:

1. ¥ Privilege

2. % Previlege

2. % Previlidge
4. % Previlige

Question Number : 143 Question Id : 5459279435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given below out of which only one word is spelled correctly. Select the word with the correct
spelling.

Options:

1. ¥ Privilege

2. % Previlege

3. % Previlidge

4. % Previlige

Question Number : 144 Question 1d : 5459279436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given below out of which only one word is spelled correctly. Select the word with the correct
spelling.

Options:

1. % Soopercede
2. % Supercede
2. ¥ Supersede

4. % Superseed

Question Number : 144 Question Id : 5459279436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given below out of which only one word is spelled correctly. Select the word with the correct
spelling.

Options:

1. # Soopercede
2. % Supercede
3. ¥ Supersede

4 % Superseed

Question Number : 145 Question Id : 5459279437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

EBore
Options:



1. ¥ Charmer
= % Creep
= % Pain

4. % Cormpromise

Question Number : 145 Question 1d : 5459279437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that is opposite in meaning to the given word.

Eore

Options:

1. ¥ Charmer
2. % Creep

3. % Pain

4. # Compromise

Question Number : 146 Question Id : 5459279438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

OphiTustic
Options:

1. # Pessirmistic
Z. ¥ Eright

3. % Nagger

4. ® Offensive

Question Number : 146 Question Id : 5459279438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Optirmnistic
Options:

1. * Pessirnistic
= ¥ Eright

3. * MNagger

4. % Offensive

Question Number : 147 Question Id : 5459279439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that is opposite in meaning to the given word.

Inept
Options:
1. # Unskilled

2. ® Incormpetent



3. ¥ Competent

4 * Perfectionist

Question Number : 147 Question Id : 5459279439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Inept

Options:

1. % Unskilled

2. * Incompetent
3. ¥ Competent

4 % Perfectionist

Question Number : 148 Question Id : 5459279440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

_rucial

Options:

1. % Vital

= % Unirmportant
3. % Avoidable

4. % Certral

Question Number : 148 Question Id : 5459279440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

_rucial

Options:

1. ¥ Vital

= % Unirnportant
3. % Avoidable

4 % Central

Question Number : 149 Question 1d : 5459279441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that is opposite in meaning to the given word.

Soothe
Options:
1. # Relieve

2. % Ease
3. % Simplify
4. 9 Aooravate



Question Number : 149 Question 1d : 5459279441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Soothe

Options:

1. % Relieve

2. ® Easze

3. % Simplify
4. 9 Aoorgvate

Question Number : 150 Question Id : 5459279442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the idiom | phrase.

To be on cloud nine

Options:

1. % To feel overly happy and joyful
Z % An important characteristic

3. % Toblunder

4. % Under pressure

Question Number : 150 Question Id : 5459279442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the idiom | phrase.

To be on cloud nine

Options:

1. ¥ To feel overly happy and joyful
2. % Animportant characteristic

2. % To blunder

4. # lnder pressure

Question Number : 151 Question Id : 5459279443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the following questicon, out of the given four alternatives, select the alternative which best expresses the
meaning of the idiom/phrase.

A golden opportunity

Options:

1. # Tolook gloomy

2. % Foolish ambition

2. ¥ Very favourable opportunity or chance

4. % Tobe enraged



Question Number : 151 Question 1d : 5459279443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the idiom/|phrase.

A golden opportunity

Options:

1. % Tolock gloonty

2. % Foolish armbition

2. ¥ Very favourable opportunity or chance

4. % Tobe enraged

Question Number : 152 Question Id : 5459279444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the idiom [ phrase.

To lick the dust
Options:

1. ¥ Popular

= % Very clumsy

3. % Justin time

4. % Toaccept defeat

Question Number : 152 Question Id : 5459279444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the idiom|/phrase.

To lick the dust
Options:

1. % Popular

2. * Very clumsy
3. % Justin time

4. 9 Toaccept defeat

Question Number : 153 Question Id : 5459279445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

ore whlo 1S present everywliera
Options:

1. ®¥ Cptirmistic

Z ¥ COrrmipresent

3. ¥ Cmniscient

4. ® Crrmipotent



Question Number : 153 Question 1d : 5459279445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

D1e whlo IS Present everywllera
Options:

1. % Optrmistic

2. ¥ Crrmipresent

3. % Orrmiscient

4. ® Cmnipotent

Question Number : 154 Question Id : 5459279446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

& gowernmment by the people
Options:

1. ® Monarchy

= % Flutocracy

3. ® Cligarchy

4. ¥ Democracy

Question Number : 154 Question Id : 5459279446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

& government by the people
Options:

1. # Monarchy

2. % Plutocracy

2. #® Cligarchy

4 ¥ Democracy

Question Number : 155 Question 1d : 5459279447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

Incapable of being corrected
Options:

1. ¥ Incorrigible

2. % Inaudible

2. # Inevitable

4. #® [rreparable

Question Number : 155 Question Id : 5459279447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Incapable of being corrected
Options:
1. % [ncorrigible

2. * Inaudible
2. % Inevitable

4. # Irreparable
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Question Id : 5459279448 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

Martial arts were largely unknowr to the Western world until after 1945, when a few American and Eritish
veterans of World War II brought back Japanese martial arts from occupied Japan. During the 1970s, there
was a surge of interest in martial arts in America, due to several popular television shows and the charismatic
actor Bruce Lee. With better cormmrmnication and less secrecy arnorng teachers, Chinese martial arts, including
t'ai chi and qigong, have made their way to Armerica. Today, there are rmartial arts schools all across Armerica,
and martial arts are a multi-billion dollar industry. Martial arts are a popular activity for self-defense, sport,
exercise, spirituality, and health around the world. Present-day forms of martial arts include kalaripayattu in
southern India, escrirma in the Philippines, pentjak silatin Malaysia, karate in Ckinawa, aikido in Japan, and
capoeira in Brazil. Many martial arts utilise basic concepts of traditicnal Chinese philosophy. Qi is the
fundamental life energy of the universe. In the body, Qi is the invisible vital force that sustains life. Martial arts
involve intellectual concepts, as well as physical techniques and, have been influenced by many of the
religious and philosophical systerms of the East. The concepts of vin and yang are also central to the martial
arts. ¥in and yang are the two separate but complimentary principles of the universe, which are always
interacting, opposing, and influencing each other. ¥in is associated with such qualities as cold, passivity,
darkrness, yielding, and inward movernent. Yang is associated with heat, activity, light, assertivensss, outward
movernent, and so o, [n rartial arts, yin and yang movernents are used o balance each other.

Sub questions

Question Number : 156 Question Id : 5459279449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhat has been the influencing factor in Martial Arts?
Options:

1. ¢ Religion and philosophy of the East

2. % Better comummunication ameng teachers

2. % Popularity of Bruce Lee

4. % Balance of Life

Question Number : 157 Question Id : 5459279450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Zhoose the word that 15 opposite in meaning to the given word.
Cornplirmnentary



Options:
1. ® Courtly

2. % Influencing
= % Honoring
4, ¥ Disparaging

Question Number : 158 Question Id : 5459279451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr 15 Ci described in the above paragraph?

Options:

1. ® Two separate but complimentary principles of the universe.

2. % 4 popular activity for self-defense, sport, exercise, spirituality, and health.
=. ¥ Fundamental life energy of the universe.

4. % EBasic concept of traditional Chinese philosophy.

Question Number : 159 Question 1d : 5459279452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the pair of words that best describe Yin-"ang.

Options:

1. ® Intellectual-Physical
2. ¥ Yielding-Assertive
3. % Active-Passive

4. % Religious-Philosophical

Question Number : 160 Question Id : 5459279453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The passage thematically centers on:

Options:

1. # Unity of mind, body and soul through martial arts
2. % Oj as a life sustaining force

=, ¥ Crigin of martial arts and its concepts

4. % EBasic intellectual concepts of Eastern philosophy

Question Id : 5459279448 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension



Read the following information carefully and answer the given questions.

Martial arts were largely unknowr to the Western world until after 1945, when a few American and Eritish
veterans of World War II brought back Japanese martial arts from occupied Japan. During the 1970s, there
was a surge of interest in martial arts in America, due to several popular television shows and the charismatic
actor Bruce Lee. With better cormmrmnication and less secrecy arnorng teachers, Chinese martial arts, including
t'ai chi and qigong, have made their way to Armerica. Today, there are rmartial arts schools all across Armerica,
and martial arts are a multi-billion dollar industry. Martial arts are a popular activity for self-defense, sport,
exercise, spirituality, and health around the world. Present-day forms of martial arts include kalaripayattu in
southern India, escrirma in the Philippines, pentjak silatin Malaysia, karate in Ckinawa, aikido in Japan, and
capoeira in Brazil. Many martial arts utilise basic concepts of traditicnal Chinese philosophy. Qi is the
fundamental life energy of the universe. In the body, Qi is the invisible vital force that sustains life. Martial arts
involve intellectual concepts, as well as physical techniques and, have been influenced by many of the
religious and philosophical systerms of the East. The concepts of vin and yang are also central to the martial
arts. ¥in and yang are the two separate but complimentary principles of the universe, which are always
interacting, opposing, and influencing each other. ¥in is associated with such qualities as cold, passivity,
darkrness, yielding, and inward movernent. Yang 1s associated wath heat, activity, light, assertiveness, outward
movernent, and so o, In rartial arts, yin and yang movernents are used to balance each other.

Sub questions

Question Number : 156 Question Id : 5459279449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat has been the influencing factor in Martial Arts?

Options:

1. ¢ Religion and philosophy of the East

2. % Better comummunication ameng teachers
2. % Popularity of Bruce Lee

4. % Balance of Life

Question Number : 157 Question Id : 5459279450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Zhoose the word that 15 opposite in meaning to the given word.
Complirnentary

Options:

1. % Courtly

2. % Influencing
3. % Honoring

4. % Disparaging

Question Number : 158 Question Id : 5459279451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr 15 Ci described in the above paragraph?

Options:

1. % Two separate but complimentary principles of the universe.

2. % & popular activity for self-defenise, sport, exercise, spirituality, and health.
2. % Fundamental life energy of the universe.

4. % Basic concept of traditional Chinese philosophy.

Question Number : 159 Question Id : 5459279452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the pair of words that best describe Yin-"ang.
Options:

1. # Intellectual-Physical

= ¥ Vielding-Assertive

3. ® Active-Passive

4. % Religious-Fhilosophical

Question Number : 160 Question Id : 5459279453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The passage thematically centers on:

Options:

1. % Unity of mind, body and soul through martial arts
2. % i as a life sustaining force

2. % Crigin of martial arts and its concepts

4. % Basic intellectual concepts of Eastern philosophy
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Question Number : 182 Question 1d : 5459279475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T =T | 0 o 1 ST TEET dhie

e GE iR
Options:

1. % Teruy

2 ¥ miuy

3 % amuf oy

4. ¥ HEcTeTE g

Question Number : 182 Question Id : 5459279475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T e H wey F w0 A Uge de

BT A
Options:

1. % Teruy

2 o qiy

3. % amuf oy

4 & ghfcoareEr Uy

Question Number : 183 Question Id : 5459279476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeTr T ETer T YR AT TR R T O & AT

T Fred TG ol ST
Options:
1. % Ty



2. % 9
S ¥ arg
4. % mEgH

Question Number : 183 Question Id : 5459279476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ooy

> % o

3 ¥ aT
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Question Number : 184 Question Id : 5459279477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % faaelt FewmdT o

2 % g iEH HEAE
3. ® HgH aTd gl
4. V' ST ST S7 S1T 51 EeT wim

Question Number : 184 Question Id : 5459279477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % faelt FewdT 21

2 % g A 0 €A 8
3 % FgA T 3
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Question Number : 185 Question Id : 5459279478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % &

2. % wgm

3. i

4. ¥ sarefE



Question Number : 185 Question Id : 5459279478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % &

2. % wgm

3. i

4. ¥ sarefE

Question Number : 186 Question 1d : 5459279479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 o T T 0T a5 7

Options:

1. % fam
2. ¥ gEr
3. ® INE
4. % gar

Question Number : 186 Question Id : 5459279479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 & BT & T AT 57
Options:

1. % fa@m

2. ¥ JET

3. % oHE

4 % g1

Question Number : 187 Question 1d : 5459279480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToraTeiaT & & i T S ieaT g 27
Options:

1. % Z=7

2. ¥ TEn

3 % gEr
4. % 2z

Question Number : 187 Question Id : 5459279480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & & F1 AT ge giee T8 &
Options:

1. % =7

2. ¥ Fan



3. % gEr
4 ® Zzv

Question Number : 188 Question 1d : 5459279481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2. % wand o arredt gEet @ =T g @
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Question Number : 188 Question Id : 5459279481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & S0 & STJER 0 A g

2 % qf w7 F w@a A
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Question Number : 189 Question Id : 5459279482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 189 Question Id : 5459279482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 190 Question Id : 5459279483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 190 Question Id : 5459279483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gt =afe & ar Ta i o B ST 8
2. % ool T TS FAn
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Question Number : 191 Question Id : 5459279484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 191 Question Id : 5459279484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % srfe ot T § T ST T He
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Question Number : 192 Question Id : 5459279485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 192 Question Id : 5459279485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 193 Question Id : 5459279486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 %0
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4. ¥ (-

Question Number : 193 Question Id : 5459279486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
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Question Number : 194 Question Id : 5459279487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 194 Question Id : 5459279487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Temr g st # 9 Tererd e g et & AT e
Options:
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Question Number : 195 Question Id : 5459279488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 195 Question Id : 5459279488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Sub-Section Number: 2
Sub-Section 1d: 545927564
Question Shuffling Allowed : Yes

Question Id : 5459279489 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension
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Sub questions

Question Number : 196 Question Id : 5459279490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR T Aged i THET 77 37
Options:

1. ¢ aTg-mg

2. % TIET T e

3 % Ui

4 ® ZrAe

Question Number : 197 Question Id : 5459279491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % v 9T

2. ® fawdr aEe

3. ¢ diga st

4 ¥ et T

Question Number : 198 Question Id : 5459279492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 199 Question Id : 5459279493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 200 Question 1d : 5459279494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Id : 5459279489 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 196 Question Id : 5459279490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T Wgcaqul e 47 87

Options:

1. ¢ arg-nge
2. % TS e
SRR T |

4 % e

Question Number : 197 Question 1d : 5459279491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % v =T

2. % faeell a5v

z. ¥ dioa T
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Question Number : 198 Question Id : 5459279492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 199 Question Id : 5459279493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. ¥ 1 FETl
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Question Number : 200 Question Id : 5459279494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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